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@ 5 Mg
._..i« s TR I

fn @) Jz_fm T

- in a vertical circle. The
when: .
(1) the massis at the hig
(6] the mass is at the IOW
@R
Tonized hydrogen atoms and
momenta enters perpendi
magnetic field, B. The ratio o1
paths ry : 1, will be : b
@) 2 ‘
(2) LY
) <8 R
@ 1:4 e o
Body A of mass 4m moving with speed u collides |
with another body B of mass 2m, at rest. o
collision 18 head on and elastic in nature. After
the collision the fraction of energy lost by the |
colliding body A1s:

1

@
@)

9
9
9
4
3 9
o
9

@
ent, when light of [

d, the angular width
on a screen placed 1 m
What will be the
if the entire
d in water ?

In a double slit experim
~ wavelength 400 nm was useé

of the first minima formed
away, was found to be 0.2%
angular width of the first minima,
experimental apparatus 18 iImmerse

(Mvater = 4/3)
(1  0.266°

@ 0.15°
3 005
(4) 0.1% Yoo
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11.

12.

.

\9"/’3\ B/‘[’

15.

3

Two similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with each other
such that the focal length of the combination is
Fp. W hen the space between the two lenses is
filled with glycerin (which has the same refractive
index (n= 1.5‘) as that of glass) then the equivalent
focal length is Fy. The ratio F,:F, will be :
@ 2:1 e
. “w N _
(‘2) s S *r\
N J

@ 2:3 3

A .

@4 3:

\
o

Increase in temperature of a gas filled in a container
would lead to :

(1)
2)
3)
@

increase in its mass
increase in its kinetic energy
decrease in its pressure

decrease in intermolecular distance

An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength

is, (nearly) : (m,=9x 10~ 31kg)

1 122x10"13m
@ 12.2x10712m
@ 12.2x10714m
2 AN
(4};« 12.2 nm N b7

/ka

A gd'f)ﬁé(r/?&f /f 88 cm and an aluminium rod of
unknown length have their increase in length
independent of increase in temperature. The length
of aluminium rod is : (agy=1.7x10"5K~ 1 and

ay=22x107K"1)
(1) 6.8cm
2) 1/13.9 cm

(3) , §§ cm

@ = 68 cm

Pick the wrong answer in the context with

rainbow.

(1)  When the light rays undergo two internal
reflections in a water drop, a secondary
rainbow is formed.

(2) The order of colours is reversed in the
secondary rainbow.

(3)  Anobserver can see a rainbow when his front
is towards the sun. .

(4)  Rainbow is a combined effect of dispersion,

refraction and reflection of sunlight.

16.

18.

19.

Pl

surface of the earth.

A body weighs 200 N on the
v down to the

How much will it weigh half way
of the earth ?

1) 150N o

(2 200N >

(3) 250N N =

(4 100N —
Z e

Six similar bulbs are connected as shown in the
figure with a DC source of emf E, and zero inte
resistance.

The ratio of power consumption by the bulbs when
(i) all are glowing and (ii) in the situation when
two from section A and one from section B are

glowing, will be :

ol
2 ]

oz L P
lose

®» 4
@ 9
@ 1
@ 2

For a p-type semiconductor, which of the following

statements is true ?

(1)  Electrons are the majority carriers and
trivalent atoms are the dopants.

(24 Holes are the majority carriers and trivalent
atoms are the dopants.

(3)® Holes are the majority carriers and
pentavalent atoms are the dopants.

@)  Electrons are the majority carriers and

pentavalent atoms are the dopants.

Average velocity of a pérticle executing SHM in

one complete vibration is :
Aw
5
2 Ao
Aw?
3 =20
(6, 5
4)  zero
m_.‘ -|-IH'A = l..’. : N
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P1

21.

22.

Theun;tomermal conductivity i - )
M Jmg-1 |
@ Jm-1g-1 &
® Wmkg-1 5 v
@ Wm-1g-1 ‘
A solid cylinder

of mass 2 k
il . g and radi
torqt?:fe:bu?:: dxtsaxmat the rate 2?3 :::1 m’f‘hli

to stop after 2 revolutions is -
M) 2x10-6Np ™ |
@ 2x10-3Nm > 2
®  12x10~4Nm K 39
@  2x105Nm SR,

o/,

A force F=20 + 10y actson a particle in y-direction

wh is in n

= e:ﬁ iFs 1sf ' newton and y in meter. Work done
orce to move the particle f;

Yy=0toy=1mis: il

@ 30J Do 4 lo
@ 5J = g0
3) 254d v
4 20J

Whl:Ch of the following acts as a circuit protection
device ?

(1)  conductor
(20  inductor
(3) switch

(@ fuse

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

10 Q ! 10 Q i
~“AAAAAA >
@A) LNW{“’“ )J &)
- {1
10V 10V
Circuit 1 Circuit 2

(1) Vy>V, and i;=1iy
@ V,=V, and i, >i,
@ V=V, and i;=i,
@  Vy>V, and i) >,

25. A hollow metal sphere

27.

28.

29.

of radius R is uniformly

charged. The electric field due to the sphere ata

distance r from the centre :

(1)  increases as r increases for r < R an

r>R

zero as r increases for r <R, decred

increases forr>R

zero as r increases for r < R. 10

increases forr>R

(4)  decreases as r increases for
r>R

d for

@ e 25 S
&) creases as r
r<Rand for

surface the angle of

At a point A on the earth’s
S arth’s surface

dip, 8= +25°. Atapoint B on the earth i
the angle of dip, 5= —25"- We can interp
that :
. ern
(1) A and B are both Jocated 12 the north
hemisphere.
. .phere and
@  Aislocated in the souther™ hemlsizphe o
B is located in the northern he m =T and
(3) Aislocated in the northern h}fmnlsizphe’!’e-
- - o
Bis located in the southern P thol

4 A and B are both Jocated 1n the
hemisphere.

on in an atom n &8

The total energy of an electr! . ialene rgies

orbitis — 3.4 eV. Itskinetic and pote
are, respectively : =

(1) —384eV,—34eV

2 —3.4eV, —68eV

(3) 3.4eV,—6.8eV

(4 3.4eV,3.4eV

when the angle (_’f
ngle for the pair
11 be angle of

In total internal reflection
incidence is equal to the critical a
of media in contact, what wi

refraction ?
1  180°
@

(3) equal toangle of incidence

@ 9

The work done to raise a mass m from the surface
of the earth to a height h, which is equal to the
radius of the earth, is :

(1 mgR " K e
(2 2mgR
3) L mgR
9 g
@ g mgR
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30.

(30)

33.

o

5

shot from the bottom of a l"ﬂ.L’
st 18 8 s
1 an (\1“)' ' [1 )l‘“\,. krp( at an 'lnzlt’ 60° w ”h
wel ¢ . : ; ;
Whe h ]]\l'“‘]l' T] “”1\_“1 a distance x, along the
100%™ an LI ‘ oty
s ntal, 1t }‘ n the inclination is decreased to
1 ” g
‘l‘ylh wi ”})]»“(,I 18 ;hu[ '-‘-T(}l (hf‘ same
oy , same v o,
and the : cravel Xo distance. Then x, : x,
30 e >al - = 1 2
) T 10 Ce
1nClY
Ve i .
1D
W
9
- ]: V=
]
9 :1
) 1 NS
.93
{) 1 :4avo
(

q1sts O1 -
nwiw]w cons1sts ('f
.palt

y protons and 2 neutrons only
2D ONS
N o

\ ‘ & . ~
] ) o]ectrons, 2 protons and 2 neutrons
9 2
R -~ o ¥
9 e]ectrons and 4 protons only
0 L G~
(D
9 protons only
@ “

d of a swimmer in still water is 20 m/s.
d of river water is 10 m/s and is flowing

_ <t [fhe is standing on the south bank and
dus Htlo cross the river along the shortest path,
"'\fh::gle at which he should make his strokes
the alic .

: th is given by :

w.r.t. nort (} )

(1)  30°west ﬂcL.V‘O- 5 3 Qa
(g~

2 0° SNOLC LO

60° west m

45° west

The spee

The 8Pee

(3)

(4)

- —) .
A particle moving with velocity v is acted by three
Af’nr(-su«' shown by the vector triangle PQR. The
v];lmr:ity of the particle will :

])
A\
N
I BN
‘ N
1
|
R Q
(1) 1increase
@)  decrease
(3)  remain constant
—
4)  change according to the smallest force QR

34.

36.

37.

Pl

Two particles A and ¢ ov {
n\“‘:r\z In umtform

3 are
circular motion in COncentric cirelos ¢ - 1..
F\_ and I'n with \'pﬁnr‘iv and ¢ gt _—
time period of rotation is the same
angular speed of A to that of B '.;‘1{‘ be

3 respectively herr

™
Lhe ratio

(1) Iy :Th
(2) Up : Un
(3) IR Xa
(4) 1:1

_.\ bl(m‘k- of mass 10 kg is in contact against the

mnner wall of a hollow cylindrical drum of ¢

,1 “;i‘ rn[h}tt‘,mefﬁcwnt of friction between the block

:m € mner wall of the cylinder is 0.1. The
imum : reloci (

e m}: mgular\el(.mty needed for the cylinder

to keep the block stationary when the

wdius

, vlinder is
vertical and rotating ; .

[ 8 about its axis w )
et 10m/s~)) g 1ts axis, will be :
@ 10 rad/s

ol

10 —_—
2) 5o rad/s
3) 10 rad/s
@  10wrads

Two parallel infinite |
charge densities + ) ¢y
at a distance of 2R ip
electric field mid-w

ine charges with linear
m and -\ C/m are placed
free space. What is the
ay between the two line

charges ?

(1) ZET0

) TS:R NIC

©) ‘n'e};R e

@ 2meR N/C

Two point charges A and B, having charges
+Q and - Q respectively, are placed at certain
distance apart and force acting between them is

F. If 25% charge of A is transferred to B, then
force between the charges becomes :

1 F
(2) g gf l{il 1)_ =
5 [ néu{g-@
1_6F_ ik 5
5 20,
4F 4.
@ = 1
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IrTrvin | 417.
o |

o3 R
tor of radius It 18

. 'l]\“ n-]\in|
Jind? o at. The plot of the magnitud
A ( ¢ cul g L i
45. tal ..~ field, B with the distar
the conductor, is correctly
’ . .4 by the figure |
|
= 7 s ) . }! >
"7 H,0
R N
B l CHq
(\\
2) I\ 07 el
i o '
- R d 1) =
X
B //‘
| / '\
(3) i N\
| // \\\
VA CH;;
R d
H;C - C 0-0—H
2)
B | T ———
/'
(4) r / !
|// 3
SR
CH3
0-0- CH
46 The number of sigma (o) and pi () bonds in 3) CHS
' nt-2-en- lxnelq
pent-4-€ @CC{—-CL{JCL{ ( v
©% @@@6@ @)
(1) 10 o bonds and 3 7bonds
) 8 cbondsand 5 bonds /CHz“O_O_H
HC
™ CH,
(3) 11 o bonds and Zwbondi 4)
@) 13 o bonds and no m bond
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48.

49.

50.

51.

AR
S

S
/‘,7/

The correct structure OftnbmmMaoxlde is:
0 :
04 A
M ()=£r—{3r—[3r=()
0) 0 \O
(0)
s 1 L0
(2) O=/BT—BT—B1-_0
O/ I_ )
0 0
0 2
s 1 9
@ O FT e
(0] 0 o
o
& 19
O=Br-Br—Br-0O
@ O// 3 \\r (0]
0

4d, 5p, 5f and 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

(1) 5f>6p>5p>4d
) 6p > 5f>5p > 4d

(3) 6p>5f>4d>5p

@ 5f> 6p>4d>b6p /I

Which of the following reactions are

disproportionation reaction ?
2Cut - Cu?* +Cu’

@)

) 3MnO; +4H" > 2MnO] +MnO, +2H,0
© 2KMnO; A, K,MnO, +MnO; + O,

@  2MnOj +3Mn** +2H,0 — 5MnO, +4H®
Select the correct option from the following :

(1)  (2)and (b)only

@ (a),(b)and(c)

(3 (a),(c)and(d)

(4)  (a)and (d)only

Under isothermal condition, a gas at 300 K
expands from 0.1 L to 0.25 L against a constant

exte"rnal pressure of 2 bar. The work done by the
[ggisvlesn. that 1 L bar=100J] A_Z:_:Z: 77{0(
1 -30J /1 0.2
2 A
((3)) 255kj 4 é"t 4
E- a?uQ,g:
w = \yﬁa (/Séii

.I‘Z ,’ 0

62,

53.

54.

55.

56.

)

7O

“3%

Among the following, the one that 18 neo

green house gas 18
(1) nitrous oxide
(2)
(3)
4)

methane

ozone
sulphur dioxide

For the cell reaction
o2+ (aq) + 15(aQ)

oFed* (aq) + 21 (aq) 2 2Fe
Eqn= 0. 94 Vat 298 K. The standard Gil
energy (A, G2) of the cell reaction is
[Given that Faraday constant F = 96500 C mol’
_ 46.32 kJ mol !

(1)
_93.16 kJ mol ™!

2
(3) 46.32 kJ mol ™!
4) 23.16 kJ mol !

ATP in phosphate trans|

: lize
Enzymes that utih the cofact

require an alkaline earth metal (M) as
Mis:

()
@
3
@

The most suitable reagent for the followi

conversion, is :

cis-2-butene

Be
Mg
Ca
Sr

P P S—E

(1  Na/liquid NH,
(2)  H,, Pd/C, quinoline
()  Zn/HCI

@ Hg?*/H* H,0

Which is the correct thermal stability orde:
H,E (E=0, S, Se, Te and Po) ?
st < H2O < H2Se < H2Te < H2P0

@
(2 Hy0<H,S <H,Se <H,Te < HyPo
(3) HyPo<H,Te < H,Se <H,S <H,0
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59.

60.

61.

Which ©

@

*the follow1n

2. 18 L‘O\"‘]"‘“

pPbE4
Cl ;s easily hydrolysed
Gy &
) is more
. ~=F, C], Br, )18 mo

WX, R

(e

(‘u‘.\'g

+ jgionicin nature
Sl]l‘ ot

h the following :
tc

g is incorrect

atatement ?

t in nature

stable than

" >yre Nitrogen @) Chlorine

? ;l:ber process Gi) Sulphuricacid

(b: C;ntact process  (iil). Ammonia

s . e ¢

((d\ Deacon S Process (iv) SBt;fiiLllr;l :lzzi:iie or

which of the following s the correct option ?
@ ® ©@ @

o @ @ @) @)

@ @ Gv) @ @@

3 ) Gv) @ @

@ @) G i@ @

‘ i iatomic molecular species
Which of the following dlg :
has only ™ bonds according to Molecular Orbital

Theory ?

@ O
@ N
@ G
4) Beg

For the second period elements the correct
increasing order of first ionisation enthalpy is:

1) Li<Be<B<C<N<O<F<Ne
@2 Li<B<Be<C<O<N<F<Ne
@3 Li<B<Be<C<N<O<F<Ne
4) Li<Be<B<C<O<‘I‘\I<F<Ne

The biodegradable polymeris:

(1) nylon-6, 6 |

2)  nylon 2-nylon 6
3)  nylon-6

@)  Buna-S

63.

65.

66.

Pl

pHof a saturated 5(31ution of Ca(OH), is 9. The
solubility product (K ) of Ca(OH), is :

1 05x1071
@ 025%x10°10
3 0125x10°1°
4 05x10°10

If the rate constant for a first order reaction is k.
the time (t) required for the completion of 99% of
the reaction is given by :

1) t=0.693/k

2) t=6.909/k

@) t=4.606/k

@ t=2.303/k

The non-essential amino acid among the following
1883

(1) valine

2) leucine

(3)  alanine

4)  lysine

Among the following, the reaction that proceeds

through an electrophilic substitution, is :

+
1) @—NQCI‘CLZCI?,

CI+N,

AlCl
@) ®+ Cl,—> @—m HCl
Cl c
3
C da

The mixture that forms maximum boiling
azeotrope is: '

(1)  Water + Nitric acid

(2)  Ethanol+Water Y o

3  Acetone + Carbon disulphide

(d)  Heptane+ Octane 1
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67.

68.

69.

70.

71

10

For the chemical reaction
N,(g)+ 3H,(g) = 2NH,(g)
the correct option is

_ 1 d[Hp] _ 1 d[NH,)
(1) 3 dt 2 dt

d[Ng] _ , d[NH;]

@ - e 3

_ d[Ny] _ 1 d[NH,]
3) dt 2 dt

JdMHy) _ , dINHj]
dt dt

(4)

The number of moles of hydrogen molecules 74 i . 1 0., and Zn —H,g
‘ p . Analkene “A” on reaction with U3 ar a*
reqll)nr:ad t:o;;zc;c;til;:? 20 moles of ammonia through gives propanone and ethanal in eg\{}mozﬁ: o
Haber's p : Addition of HCl to alkene “A” gives ‘B’ as tae mag
1 10 /L/ A o 7 product. The structure of product B
X ,\,’, Lz
(2) 20 /,&)' > _'?) /4( ly (/- (_/‘ . CH
DC : / 7 7 a3
® B ch_g %ﬁ/ “k )  Cl-CH,-CH,~CH
@) 40 FZ6, s L5 9‘2 =é/1 &
{ oL, ¥ 4 . 0 CHjy
The compound that 1s most difficult to protonate = 3% 'y u oy cu O
is : "“’zo"’% = TCcH,Cl
|
i /O\H ) HyC-CH,-CH-CH,
0 CH,3
) H3C/ SH :
3) H3C—CH2—C—CH3
|
(0)
0 CHy
@ Ph—  H T oy il
@) By |
) Cl CH
For an ideal solution, the correct optionis: 3
. S=0 at constant T and P L : ..
(1) ApiS=0atco 75. What is the correct electronic configuration gf

@ A, V#0at constant T and P
@) Ay H=0at constant T and P

4)  Apix G=0at constant T and P

Conjugate base for Bronsted acids HyO and HF
are :

() OH-andH,F*, respectively
2 Hy0" and F~, respectively
(3) OH~™and F~, respectively

4 Hy0* and HyF'*, respectively

72

73.

Which mixture of the solutions Will_(lie:ld f-O
formation of negatively charged colloidal [Agl]js

sol. 7
(1)
(2
(3)
(4)

50 mL of 1 M AgNO, + 50 mL of 1.5 MKy
50 mL of 1 M AgNO, + 50 mL of 2ZM Kl
50 mL of 2 M AgNO, + 50 mL of 1.5 MK
50mLof0.1M AgNO3+50 mLof 0.1 MRy

Among the following, the narrow Spectrug
antibioticis :

(1) penicillin G

(2) ampicillin

(3) amoxycillin

(4)  chloramphenicol

the central atom in K [Fe(CN)g] based on cryst:
field theory ?

(1) t2: ei
@ by el
3) e? tg '
@ o't
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Identify the incorrect statement re|
from the following -

ated to Pe7

(1) Three equatorial P — () bonds .. ke .
of 120° with each other Tase an angle !
@) Twoaxial P — Clbonds make ar. . . |
with each other 40 angle of 80r |
(3) Axial P— (] bonds are longers1. ;
P —Clbonds 8€ than “Quatoris) \
4) PC], molecule ig NOD-reactive
77.  Which will make basic buffey ? :
1) 50 mL of 0.1 NaOH + 9~ |
CH,COOH “>mLof g1y |
(2) 100 mL of 0.1 M CH )("()() 1 I
0.1 M NaOH PR 100 my, of
@) 100 mL of g3 M HCl+29¢g 1
0.1 M NH,0H 200 mL of
(4) 100 mL of 0.1M HCl+ 100 .
NaOH mL of 01 M
78.  The major product of the following reaction is
COOH
+ N, SITong heating
COOH
COOH
CONH2
(0]
(0)
COOH
&) Q
NH2
NH,
4) @[

NH,

11
5 | 7

9, Mas / :
13t} b Ng
o : ’;( S s P
it I "'”Y‘m
f)zurnn ‘ .
: Columy, .
Nin I
Xep,
X ,'J:‘ Ve,
d XeQ, . :
('ode: s >
@ g
)
: ' (o) (d)
1 (n -
(2) (n 5 :V
V@) g
1'3, (1)
n {m) 1) (1
4 n ;
) o) () O 6
80. The manganate an
tetrahedra], due o P‘irmangana[t 10ns gpe
D Themp .
ofe bo gmvolvesoverla of
OXygen With d-orbital% of i ey
o o SOl manganeee
2 €reisng - bonding
=}
©3)  The- bonding;
- bopy volyeg Overlap of I
; . P of p-orbitals
of oxygen With P-orbitals of manc’;r:ielmlw
4 - ingj N
) '31: bond}ng nvolveg overlap of d-orbitals
Xygen with d-orbita]g of Wanganege
ganes
81.  Which of the folloy 10g species is not stable ?
(1) [SiFg2~
@ [GeClp-
®)  [Sn(ORH),p2-
@ [SiCl2-
82.

For a cell involving one electron BGi=059V at
298K, the equilibrium constant for the cell reaction

18 :
:
[Giver; that 233.R0e 0.059 Vat T = 298 IxJ
(1) 1.0x10?
@ 10x10°
@ 10x10°
@ 10x10¥
_——‘
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94.

96.

98.

['he shorter and longey Arms of g g}
hromosome are reterred to 18 -

\mvtm‘-vmru‘

s-arm and l-arm 1\.,\1\.,(“\.“1\,

p-arm and q-arm res

l)f'Ctl\'t*I}~

g-arm and p-arm respectively
m-arm and n-arm ruspf,cn\,&l\,

Respiratory Quotient RQ) v

alue of tripa]
0.9

mitin 18
5) (lT
P} 0.07

) 0.09

Which of the following

1S a co
cholesterol 1

Mmercial blgpq
OWering agent ?
(1)  Cyclosporin A
@ Statin
(3)  Streptokinage
(4) Lipases

Match the following struc

tures with their
respective location in organs :

(@  Crypts of Lieberkiihn @)  Pancreag
(b)  Glisson’s Capsule (1) Duodenum
(©) Islets of Langerhans (i11) ,Smal]_
Intestine
(d)  Brunner’s Glands (iv) Liver
Select the correct option from the following :
@ () (© @
(1) @) @ 1@  @v)
@ @ @) @O (i)
@) @) Gv) @ (i1)
@ @ @ @ (G

Which of the following is the most Important cause

for animals and plants being diiven to
extinction ?

(1)  Habitat loss and fragmentation
(2)  Drought and floods

3  Economic exploitation

4)

Alien species Invasion

13

99,

100,

101.

102.

103.

Whi.
ll’lﬁ:‘:n}j Daps of 4 b P
o Sulatio, »® braig | **Pomaib) 4
H)| (‘ervhmm -
;; I'Tﬂ-wthahmug
( Corp
4) \LTlML By
*ulla gy Ngaty
Onsgjq,
( er f(Jll()va,l g featurn
a) rgan Syg m Jev,
(b) Bilater ] b Pnisatio
N a Met
: TUe cog), ateg
~ w
Select ¢ € Corpe b. lthsegnmmm‘"‘Ofbody
POssegg U the b e limg) BXOUDS which
e , Characteristics.
4 elidgy,
: Poda gpg Chorda,
2 Annelida Arthy,
OPoda gy, Mollusca
3) :\rthropoda )\
, » Mollugeq d Chordatg
@) nelidg Mo]}
) Usca ang Chordata
Select the ¢ ot seq
alimentary can o (o208 in the
ey al ockrogcl, tarting fy,
(1) B
Gllarynx €80phagyg = Crop -
12zard — 1)q - olon~>Rectum
3,
() Pharyny - Oesophagus = Gizzarq _,
Crop — leun - Colon — Rectum
(3) Pharynx - Oesophagus = Gizzarq
leum — Crop — Colon — Rectum
@ Pharyny = Oesophagus = lleum —
Crop — Gizzarg — Colon — Rectum
Which of the following Pars of gages i mainly
responsible for grean house effect 9
(1) Ozone ang Ammonig
©) Oxygen and Nitrogen
3 Nitrogen and Sulphur dioxide
@  Carbon dioxide and Methane
Which of the following muscular disorders i
inherited ?
(1)  Tetany
(2 Muscular dystrophy
8 Myasthenia gravis
)

Botulism
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104, ik —_

The ciliated epithelial cells are required to move | 108. The correct sequence of phases of cell cycle

particles or mucus in a speci irecti
pecific direction. In
humans, these cells are mainly present in : M M-G-G—5
(D Bile duct and Bronchioles @ G -oG->S—-M
@ S-G-G—M

(2)  Fallopian tubes and Pancreatic duct
@ G->S-G-M

(3 E . .
) ustachian tube and Salivary duct L fluence the celly]

109. How does steroid hormone€ !

(4)  Bronchioles and Fallopian tubes
activities ? ability of the ¢
105. Match the Column - I with Column -1 : () Changing the PeT™°
Column -1 Column -1I1 el and formil} -
: @ Binding t° DNA ‘8
(a) P-wave @) Depolarisation of gene-hormone complex- d on the g
ventricles o/ .. AMP locate '
) (3 Activating cyclic
() QRS complex (i) Repolarisation of membrane. ols
. ; n
A ventricles @) Using aquaporln chan
(¢ T-wave (i) Coronary messenger-
ischemia e Statements 18

(d  Reductioninthe (iv) Depolarisation of 110. Which of the followin =
| (1) Lysosomes have nu

gize of T - wave atria
- enzymes. omes a
V)  Repolarisation of The hydrolytic enzymes of lysos

rou

Sy @ der acidiCP
. > .
Select the correct option. Gl prane pound st
(3) Lysosomesare membr ol
(@ () (© @ formed by the PI=C=ss
: (4)  Lysosomes are e lasmicTe e
@ G @ @ @) packaging 11 the endop
: . % . e
@ @G @O @ 111, Which one of the following stai_:enﬁz::frﬁgp 3
@ & 0 O @ post-fertilization developmentint :
@ @ @@ v isincorrect ? . .
@  Ovary develops into fruit
106. Which one of the following is not a method of @  Zygote develops into embryo
in situ conservation of biodiversity ? Jops into endosperm
(3) Centralcell develops
(1)  Biosphere Reserve 4) Ovules develop into embryo sac
@2  Wildlife Sanctuary '
(3  Botanical Garden 112. Concanavalin A is:
(1)  analkaloid
(4)  Sacred Grove g
(2 an essential oil
(3) alectin

In a species, the weight of newborn ranges from
2to 5 kg. 97% of the newborn with an average (4) apigment
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5 to 5 kg die. Which type of selection process

107.

113. Which one of the following equipments
essentially required for growing microbes of

18 taki 92
1) akllr;iz:ic;;l Selection . large scale, f'or industrial production of enzymes
@  Stabilizing Selection ; (1) BOD mc'ubator
@)  Disruptive Selection () Sludge (.hgester-
@ Cyclical Selection : () II‘lduStnal oven
(4)  Bioreactor
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114. Conside

115.

116.

117.

(A) Coenzyme 0
to enzyme protein is called prosthetic group.
B) A complete catalytic active enzyme withits
bound pl-osthetic group is called apoenzyme.
gelect the correct option.
(1) Both (A) and (B) are true.
@) (A) is trué but (B) 18 false.
3) Both (A) and (B) are false.
4) (A) 18 false but (B) is true-
L s
i \y: NA are:
purines found both 11 DNA and RL
(1) Adenine and thymine
@) Adenine and guanine
'3‘) (Guanine and cytosiné
\ ] ’
) Cytosine and thymine
-t of sperm
gelect the correct sequence for tr ansport o1 SP
cells in male 1'eproduct1ve gystem.
5 . ;
q)  Testis _, Epididym18 — Vasa efferer}llt:
(b — Rete testis——)Inguinal canal = Urethra
2) geminiferous tubules — Re'teA test}s
~ |5 Vasa efferentia _, Epididym1$
. Vas deferens _s Ejaculatory duct
_s Urethra = Urethral meatus
) Seminiferous tubules — Vasa efferentia
" Epididymis _, Inguinal canal
_ Urethra
(4) Testis = Epididymis — Vasa efferentia
_, Vas deferens = Ejaculatory duct
_» Inguinal canal — Urethra
_s Urethral meatus
Match the hominids with their correct brain

size :
@)
(b)
©
()

Select the correct option.

@)
@
i)
@

r the following statements :
¢ metal ion that is tightly bound

Homo habilis @) 900 cc

Homo neanderthalensts (1) 1350 cc

Homo erectus (i) 650-800cc
@iv) 1400cc

Homo sapiens

15

@ (b © @
G @ (v @
@ @ @O @
i @) @O @
av) @) @ @)

118.

119.

120.

121.

P1

Variations
caused by mutati
Hugo de Vries, are : . s qropoes

(1)  random and directional
(20 random and directionless
(3)  small and directional
(4)  small and directionless
Which of the following pai
o tain DNA? g pair of organelles does not
(1) Mitochondria and Lysosomes
@  Chloroplast and Vacuoles
3) Lysosomes and Vacuoles
4) Nuclear envelope and Mitochondria
Due to increasing air-borne allergens and
ollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to:
Q) benign growth on mucous lining of nasal
cavity-
%) inflammation of bronchi and bronchioles.
3) proliferation of fibrous tissues and damage
of the alveolar walls.
@  reduction in the secretion of surfactants by
p neumocytes.

Select the incorrect statement.

(1) Male fruit fly 18 heterogametic.

@ In male grasshoppers, 50% of sperms have
no sex-chromosome.

3 In domesticated fowls, sex of progeny
depends on the type of sperm rather than
egg.

(4 Human males have one of their

sex-chromosome much shorter than the

other.

122. DNA precipitation out of a mixture of biomolecules

can be achieved by treatment with :

(1)  Isopropanol
(2)  Chilled ethanol
(3  Methanol at room femperature
(4)  Chilled chloroform
TS
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123.

124.

125.

126.

127.

Select the correct group of biocontrol agents.
(1)  Bacillus thuringiensis, Tobacco mosaic
virus, Aphids
(2)  Trichoderma, Baculouvirus,
Bacillus thuringiensis
(3)  Oscillatoria, Rhizobium, Trichoderma
(4)  Nostoc, Azospirillium,
Nucleopolyhedrovirus
Select the incorrect statement.
(1)  Inbreeding increases homozygosity.
(2)  Inbreeding is essential to evolve purelines
in any animal.
(3)  Inbreeding selects harmful recessive genes
that reduce fertility and productivity-
(4)  Inbreeding helps in accumulation of superior
genes and elimination of undesirable genes.
Match the following organisms with the products
they produce :
(@  Lactobacillus ~ ()  Cheese
(b)  Saccharomyces._ @) Curd
cerevisiae .
©  Aspergillus niger;g‘(iﬂ) Citric Acid
(d)  Acetobacter acetr - (iv) Bread
(v)  AceticAcid
Select the correct option.
(@ () @© @
QO -G Gv @
@ G @Gv @)
@ @ @ O O
@ G @O @
What is the direction of movement of sugars 1n
phloem ?
(1) Non-multidirectional
2 Upward
(3 Downward
(4)  Bi-directional
In some plants, the female gamete develops into
embryo without fertilization. This phenomenon
is known as :
(1)  Autogamy
2 Parthenocm'py
(3)  Syngamy
(4)  Parthenogenesis

16

130.

131.

132.

129.

128. Persistent nucellus in the

()  Chalaza
(2)  Perisperm
(3) Hilum

(49 Tegmen

What map unit (Cent1
construction of genetic MAPS °

@
@
()

@

geed is known as:

morgan) 18 adOPted m .k
‘7

1 twO eXpress

A unit of distance bit % C roSS over.

genes, representi> two expre
A unit of distance be O;ecross over
genes, representmg 10

ween S€nes g

A unit of distance betw

e
chromosomes, Tépres
etw
A unit of distance bting
chromosomes; represen

een genes on
50% cross over,

gon if th
What would be the heart rate of j; E}f:ven
cardiac outputis 5 L» plood vomf,l:nd b hocndl
at the end of dlastole is IO(L
ventricular systole 18 50 m
(1)  50beats per minute
(2  75beats per minute
(3 100 beats per minute
(@) 125beatsper minute
Thiobacillus is a group of bacteria helpful
carrying out :
(1)  Nitrogen fixation
(2  Chemoautotrophic fixation
(3)  Nitrification
(4)  Denitrification

Which of the following factors is responsible L.n»'
the formation of concentrated urine ?

)

@

6

@

Low levels of antidiuretic hormone.

Maintaining hyperosmolarity towards in . ‘
medullary interstitium in the kidneys.

Secretion of .erythropoietin
Juxtaglomerular complex.

Hydrostatic pressure during glome .Af :
filtration. -
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: 17 the inner
133.  Which of the following statements regarding | 138. Placentation, in which ovules develop 07, 7
mitochondria is incorrect ? wall of the ox‘-ary orin peripheffll part, 15
(I)  Outer membrane is permeable to monomers (1) Basal
of carbohydrates, fats and proteins
: (2) Axile

(2)  Enzymesofelectron transport

in outer membrane. SRS —3) Parietal

(30 Inner membrane is convoluted wi (4)  Free central

—  infoldings. D
did aim for

: X e - tocols
4)  Mitochondrial matr; . ! 139. Which of the following Pro . “to the
@ SR S G reducing emission of chloroflucrocarbonsin

circular DNA molecule and ribosomes
' atmosphere ?

134. Xylem translocates : (1)  Montreal Protocol
(2 Kyoto Protocol

(1) Wateronly
(3)  Gothenburg Protocol

)2) Water and mineral salts only
@  Water, mineral salts and some organic (4 Geneva Protocol

nitrogen only d
140. Which of the following contraceptive methods do

Tater, mineral salts, some organic nitrogen :
Wat ' & g involve a role of hormone ?

4)
( and hormones
(1)  Lactational amenorrhea, Pills, Emergency
G, phase: e ———,
e]ls in G phase : |

135. Ce (2)  Barrier method, Lactational amenorrhea,

1) exit the cell cycle Bar '

(2) enter the cell cycle 5 Cob A gy
5 i e (4)  Pills, Emergency contraceptives, Barrier
| methods

(4) terminate the cell cycle
141. Tidal Volume and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 mL respectively.

e statements given below is not true
What will be his Expiratory Capacity if the

Thich of th
136. Whicho al Ringsin trees ?

about formation of Annu

() Annualringisa combination of spr ing wood Residual Volume is 1200 mL ?
and autumn wood producec'l In ayear. | ) 1500mL

o pamtommalat |
wood respectively. () 2200mL

(3)  Activity of cambium depends upon variation @) 2700 mL

=~ inclimate.

(4)  Annualrings are not prominent in trees of 142. What is the fate of the male gametes discharged

temperate region. R e
137. Which of the following ecological pyramids is 9 .Oxﬁlfuses w1tl_1(;;he €ge, OFhe}' @ dggenerate(a)
generally inverted ? n the synergid.

(2)  All fuse with the egg.
(3)  One fuses with the egg, other(s) fuse(s) with

(1)  Pyramid of numbers in grassland

(2)  Pyramid of energy
synergid nucleus.
3  Pyramid of biomass in a forest '
e _ [ (4)  One fuses with the egg and other fuses with
: yramid of biomass in a sea central cell nuclei.
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1 48. (Conversion of glucose to ho |

143 What is the site of perceptiOﬂ of .pho]to:;r;Od g first irreversible reaction of glycolysis, 18 catz 5

necessary for induction of flowering 0 P14 by : |

(1)  Lateral buds @ Al dolsse

()  Pulvinus

Hexokinase
(3)  Shoot apex 2
A4  Leaves (3  Enolase
jent f ctokinase

144. Select the correctly writte” smentlﬁc,bz amebC; 4) PhOSPhOﬁ'u

Mango which was firs descrl | .

Cerolus Hinnsens - 149. Drug called ‘Heroin’ 18 synthesxzed by :

(1)  Mangiferaindica Car: Linn. o

@  Mangiferaindicalin® Q) methylétlon ;’ ”:ine

(3> Mangifera indica il acetylation O morp

4  MangiferaIndico ) glycosylation of morphineé

A ; haractez‘lSthS : . :
o g statementsnfioes (}:Er:l%eo;hjcfease. Identi (4)  nitration of morphiné
e-releasing [ntra-Utering

of the enzyme Restric

the incorrect statement.

(1) Theenzymecuts DNA molecule
position within the DNA.

{2 Theenzyme binds DNA at 8P€
cuts only one of the two strands.

(3) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.'

(@ The enzyme recognizes 2 5P ecific
palindromic nucleotide sequence in the DNA.

cific sites and

From evolutionary point of view, retention of the
female gametophyte with developing young gmbryo
me time, is first

on the parent sporophyte fox%()/
observedin:
e

(1) Liverwortb’f é’ﬁ
(2) Mosses

(6)) Pwﬂdoph&

4 ,{Gqu‘%%pe}' § * 4
e

, a red flower was

147. In Antirrhinum & r}a’pdr
crossed with a whi wer and in Fy generation,
pink flowers were 0 tained. When pink flowers

tion showed white, red

146.

were selfed, the F; genera
and pink flowers. Choose the incorrect statement
from the following :
(1)  Thisexperiment does not follow the Principle
i of Dominance.
@ Pink colour in F,; is due to incomplete
dominance.
. (3 RatioofFyis l(Red)' 2 ink) : - j
4 Law of Segregation does not apply in this

experiment.

at ;dentified 150

151. Agene locu

152.

glucose-G-phoapm" ’

Select the hormon
Devices.
1) Vaults, LNG-20
@ Multiload 375, Progestasert

~
B Progestasert, LNG-20 ‘<{®
X Lippes Loop: Multiload 375

wo alleles A, a. If the frequeng
of dominant allele A is 0.4, then what will be he
frequency of homozygous dominant, heteroZygous
and homozygous recessive individuals 1n the

shast

population ?
1) 0.36(AA);0.48 (Aa); 0.16 (aa)
@ 0.16 (AA); 0.24 (Aa); 0.36 (aa) 3

(3 0.16 (AA); 0.48 (Aa); 0.36 (aa)

@» 0.16 (AA); 0.36 (Aa); 0.48 (aa)

Which of the following is true for Golden rice ?
It is Vitamin A enriched, with a gene ﬁ'o
daffodil. 3
It ig pest resistant, with a gene fr'.d
Bacillus thuringiensts. 4

@ It is drought tolerant, developed usin
Agrobacterium vector. A

@

®

4 .It has yellow grains, because of a gene
introduced from a primitive variety of ri ce.
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153. Pi_nus seed cannot ggrmina?e 'and establish | 158. Expressed Sequence Tags (ESTs) refers to : %
without fungal association. This is because : 1) Genes expresseq as RNA
(1) itsembryo isimmature. 2)  Polypeptide eXpression
@ ithasobligate association with mycorrhizae. (3)  DNA polymorphism
) ithasvery hard seed coat. @) Novel DNA Sequences

(4)  its seeds contain inhibitors that prevent
germination. 159. Which of the following statements is in p
18 Incorrect ”
(1) Morelsand truff] : i,
154.  Which of the following features of genetic code does ; P s are edible delicacies.
allow bacteria to produce human insulin by AL Lscg’tceps 18 a source of many alkaloids and
recombinant DNA technology ? '

(D) Genetic code is not ambiguous 4 Conidia are produ

ced exogenously and

ascospores endogenq
(2)  Genetic code is redundant 4 Yeastsh S

‘ ave filamentous bodies with lon
() Genetic code is nearly universal thread-like hyphae. .

-4 Genetic code is specific 160. Match Column - | With Column .

Column -

155. Which of the following sexually transmitted @ Saeoui Column -1
diseases is not completely curable ? )] Symbiotic iation of
fungi with
(1)  Gonorrhoea ® Parasite - g M::mm
(2)  Genital warts u Ewm_c mate:i;)lfgdead

28)  Genital herpes (© Lichens - w)
(4)  Chlamydiasis

156. Which of the following statements is incorrect ?

, Choose t
(1)  Viroids lack a protein coat. belg(:vse he correct angy,
. (2)  Viruses are obligate parasites. @ ()
(3)  Infective constituent in viruses is the protein . A6 (i)
coat. i
. _ @ @) @)
(4)  Prions consist of abnormally folded proteins. ® @ @
1
157. Match the following organisms with their @ () (i)
respective characteristics : 161, Whichiot it = :
; J Cch of the i . .
@@ Pila ()  Flame cells hls\ﬂin-depend:xﬂo?wmgf glucose transporters is
(b) Bombyx (i) Comb plates 1)  GLUTI - i ‘ ‘ " |
(©  Pleurobrachia (i) Radula f @ GLUTIDE R
@  Taenia (iv)  Malpighian @ oLUTm SN 25

o @ ewry
Select the correct option from the following : - ] :

@ ® © @ 19 of the following immune responses is
O @ @ 6 W) | e
@ G G G@ 6
@ @ G G G
@ @ @ G
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163. Use of an artificial kidne

may result in : ¥ du"mg hemodjalysis

@  Nitrogenous waste build-up j, the body

()  Non-elimination of €Xcess potassium i(;ns

© Reduce_d absprption of calcium jons
gastro-intestinal tract -

(d  Reduced RBC Production

Which of the followin

opti :
appropriate ? § OPtions is the most

(D (a)and (b) are correct
2  (b)and (c) are correct
~3)  (c)and (d) are correct
) (a)and (d) are correct
164. Which of the following statements is correct ?
£ Cornea. 1s an ex.ternal, transparent and
s;‘sf:ﬁfve Proteinacious covering of the
(2)  Cornea consists of dense connective tissue
of elastin and can repair itself.
&3  Corneais convex, transparent layer which
is highly vascularised.
(4)  Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.
165.  The frequency of recombination between gene pairs
on the same chromosome as a measure of the
distance between genes was explained by :
(1) T.H.Morgan
(2)  GregordJ. Mendel
(3)  Alfred Sturtevant
@)  Sutton Boveri
166. Match the following genes of the Lac operon with

their respective products :

(@) 1igene (1) B-galactosidase

(b) zgene (i)  Permease

(c) agene (i)  Repressor

(d  ygene (iv)  Transacetylase
Select the correct option.

@@ () @© @

O O @ @ @G

@ @ @ @ G
#) () @ @ @)
W ® 0 @

20

167.

168.

169.

170.

1/l

172.

ineapple plans.
time for P o thohn‘ te
It takes very o . ch combind X Mopg

produce flower™: L i ally induce foweringy

5 ear toi ‘
can be alpP;;:nts thl.oughout, the y inda
pineappleé P
vield ? o
' . and Ethyle |
(@) Auxin a ' .

2 Gibberelln and Cyt o
g Gibberellin and AbsC1S |
" (; l tokinin and Abscisic acid
§es yto k
. . 3
tify the cells whose secretlox‘: :;% u:t: the jl‘_"
I(;egr;stro-intestinal tract from " :
o
) Chief Cells
@  Goblet Cells
(3 Oxyntic Cells |
@ Duodenal Cells |
:ng can be used as a biocongy:
Which of the follow1ng € ot v
agentin the treatment of plant
@y Trichoderma
@  Chlorella
(3) Anabaena
(4)  Lacto bacillus

Phloem in gymnosperms lacks:
Albuminous cells and sieve cells ;

(1

(2)  Sieve tubes only j
(3)  Companion cells only

(y  Both sieve tubes and companion cells

Extrusion of second polar body from egg nucleys
occurs : : |
after entry of sperm but before fertilizat; or

D
(2)  after fertilization

(3)  before entry of sperm into ovum i
(4)  simultaneously with first cleavage

Under which of the following conditions wil t
be no change in the reading frame of fo
mRNA ? :

5 AACAGCGGUGCUAUU &

ofil

(1)  Insertion of G at 5th position :
2  Deletion of G from 5th position
(3  InsertionofAand Gat 4% and5
respectively F: X
- Deletion of GGU from 7th,
: positions R

i«
-1l
o
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173.

175.

176.

177

~ The concept of “Omnis cellula

174.

(@ useasafertilizer

oelldivisionwaaﬁrstpropmd Tegardi
- Rudolf Virchow )

2)  Theodore Schwann N
(3)  Schleiden _ ". .
(4) Aristotle :

What triggers activation of protoxin to X mal
toxin of Bacillus thuringiensis in boll w l!ﬁﬂ 41':'. g |
(1)  Body temperature .

@  Moist surface of midgut ' |
. '
@)  Alkaline pH of gut \

() Acidic pH of stomach

Identify the correct pair representing the
causative agent of typhoid fever and the

confirmatory test for typhoid.
(1)  Plasmodium vivax | UTI test
| )  Streptococcus pneumoniae | Widal test
3) | Salmonella typhi / Anthrone test —o1
'ﬁ Salmonella typhi/ Widal test
What is the genetic disorder in which an individual

has an overall masculine development,
gynaecomastia, and is sterile ?

(1)  Turner’ssyndrome ,
&>  Klinefelter's syndrome

(3  Edward syndrome

(4)  Down’s syndrome
g : 1y
)

|
N LT 1
']ﬁ.e!l
ey

A u e

i
2ol
Q

Polyblend, a fine powder of recycled
plastic, has proved to be a good mater

(1)  making plastic sacks
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